Transformations: Final Exam Prep e &xgg -

Math |l

Directions: The following questions are sample items similar to those found on the EOC Exam. Answer each to
the best of your ability.

1. Triangles LMN and OPQ are shown below.
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What additional information is sufficient to show that ALMN can be transformed
and mapped onto AOPQ? -
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2, Point P("3, "1) is transformed using the rule (x'y ¥) = (x =3, y + 1). The image P’
is then rotated clockwise 90° about the origin, resulting in point £". What are the

coordinates of P"'? 3
(6, 0) e (3-3, -1r1) = (-0,0)

A

B (0,76) Py )= (0,+0)
©) 6

D (6, 0)

3. AWXY has vertices W (2, 5), X(6,2), and Y(2, 2). If AWXY is dilated by a factor

of %, what are the coordinates of X' in the transformed triangle?

A (1,3) X" (o3 zﬂL\)
G, 1) () *()
C (4,12) X“(%,a\)

D

(12, 4)



4.

In the graph below, AP'Q'R’ is the image produced by applying a transformation
to APQR.
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Which transformation was used? : *j
', y)=(x=3,y-7)
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x,y)=(x+3,y+7) - - — "
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(X, )= {x=?, y~3)

(x,y)=(x+7,y+ 3)
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5. Quadrilateral KLMN will be rotated 180° about the origin.

6.

" 5
\%0 = (w b 3 - k”b)

Which rule will describe the transformation?

A (X’i yl) =(X.r y)

B (x,v)=(x,¥)

(xy) = (x,7y)
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@ (x7y)=0x"Y)

APQR, shown below, will be rotated clockwise 180° about the origin.
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Which rule describes the transformation?
A (Xy)=(xy)
B [Eyi=ly

C (290 =(x"y)
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{f ASLM is rotated 180° about the origin, what will be the coordinates for the image of M?

e S .
A (5,5)
B {575
(5-9)= (-5,2)
@ s
D (75,75)
8. Triangle PQR has vertices P("1,3),

Q(1,2), and R(~2,71). When APQR

is reflected over the line ¥ = 72, what

are the coordinates of P’? Pt

9.

a reflection over line m

?B‘Q a reflection over the liney = 1
a rotation 90° counterclockwise about the origin

D a rotation 270° counterclockwise about the origin




10. Triangle EGF is graphed below.
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Triangle EGF will be rotated 90° counterclockwise around the origin and will then
be reflected across the y-axis, producing an image triangle. Which additional
transformation will map the image triangle back onto the original triangle?

A rotation 270° counterclockwise around the origin

B rotation 180° counterclockwise around the origin

Cc reflection across the line y = ~x

@ reflection across the line y = x

FG has points F(2, 4) and G(6, 1). If FG is dilated with respect to the origin by a
factor of k, to produce F'G’, which statement must be true?

11.

A The line that passes through F' and G’ intersects the y-axis at (0, 5.5 + k).
B The line that passes through F' and G’ intersects the y-axis at (0, 5.5).
C The line that passes through F* and G’ has a slope of (_ﬁ) k.

4

@ The line that passes through F' and G’ has a slope of *%.

12.  In the graph below, AP'Q'R’ is the image produced by applying a transformation to
APQR.
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Q Which rule desecribes the transformation?
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Point P’is the image of point P after a counterclockwise rotation of 90° about the origin. 1If
the coordinates of point P’are( ™7, 3), what are the coordinates of point P?

B, e Py) = (3)7)

{3,77)

C
ot

14.  Which transformation will always produce a congruent figure?

X" Y e 4, = 3 4 P & 4
O

B X, v = (2x b b e g
VK=l (dorﬁr\ * Gty S\ e o
= o y) = (% + 4.29) 55\/1&{;3%1,‘\)
D (x,y) = (4x 4y)
~\ o T
15 The vertices of triangle PQR are located at P(2, 5), Q(12, 20), and R(12, 5). The QY0¥ ""( e
2 AnOte
vertices of the triangle will undergo the transformation described by the Co d.“? \
rule (x, y) — (x, %y]. Which statement about the image triangle is true? P &
. ,,w"“"“'rf 1S
/l( The perimeter of the image will be 5 times the perimeter of the preimage. ¢ Nl ’
)8 &
The area of the image will be 5 times the area of the preimage.
«V ? | P i A= 09)(10) | ¢,
- The perimeter of the image will be % the perimeter of the preimage. L
e e
. The area of the image will be ¢ the area of the preimage. -'Tgs-’- - > A= (1))
| N 2
P2, ) @'(1,1) R, ) —
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16.  Which rotation will carry a regular hexagon onto itself? ¥ = &

a 30° counterclockwise rotation 200 | U{«,o

pe——
= -

o
need 10 find o

o

A
B a 90° counterclockwise rotation

@ a 120° counterclockwise rotation & ML) nple 6’3 wO °
D

a 270° counterclockwise rotation



17.

A translation is applied to AFGH, forming A #'G'H’. If the translation is deseribed by

(x, ') = [x + 2, y — 3), which graph shows the translation correctly?

Y
R
k -
-
SRR, SOt " . 5 e
TF /F
( < 340
g
"'-‘._“ ot #1 Iy k
; \5{ ,,,,, \
. '~ H' \'1 . %
B TH T4 T3 T2 T ﬂ"s{! *o\t3 T4 *5 tH '
s - o T Y R i 1 s
]
-3
i ) TR ——
=5
R— g_'ﬁ .
R
¥
i) sl e
Hl
N\
N X

®

~~~~~

6 7%

/

~~~~~~~~

<

[

_.3 _,‘2_

P




